spectral density [db] spectral density [db] spectral density [db]

spectral density [db]

-100

-100 [

04feb13 Rdev spectra of SineWave frq: 1160:Tx samples 1 ipp.

-20

-40

-60

-80

11000 Tx samples = 0.5500millisecs
bandwidth:20Mhz

=

o
o

-5 0 5
Freq [MHz]

Rdev spectra Data samples 1 ipp

-20

-40

-60

-80

40000 Data samples= 2.000|millsecs

=
=

o
o

-5 0 5
Freq [MHz]

-20

-40

|

-60

Blowup Tx spectra

-10000

-5000 0 5000 10000
Freq [Hz]

Blowup Data spectra

-20

-40

-60

-10000

-5000 0 5000 10000
Freq [Hz]



phase [cycles]

phase [cycles]

phase [cycles]

0.74

0.72

0.70

0.68

0.66

0.62

0.61

0.60

0.59

0.58

0.62

0.61

0.60 [

0.59

0.58

04feb13 phase Data[0,i]-tx[0,i] for each ippli]

L Expected phase difference ]
Diff:-11.00 usecs. (Measured - computed)

— used:DataStart=dataOffset -

0 100 200 300 400
ipp number

Tx Sample[0] phase difference (ipp[n+1]-ipp[n]) vs ipp

‘HHH\H‘HH

HH‘\HHHH‘HHHH==HHHH‘HHH\H‘HH

Alla lAuA Maha I mll SN VAYT TR TV [ Y OTVRTINT YO T o AR L A AR AN adcy A ax AN AN A R i LA AN
' ’ Hw” ujv |vu‘vvy||y|v V”Y(I LALLM ‘v‘ v’ L vv“|‘ IR ! ‘ W [‘ Y{y ‘y” ]v” ||y 1w ’ Il ly" , ’V]V ”yv“]!u,” ,Y‘
= S S S S SRR
0 100 200 300 400
ipp number

Data Sample[0] phase difference (ipp[n+1]-ipp[n]) vs ipp
— —— T T T T T T T T T T T T —
o MR -t amhad AL b I nalt huh M it ana INAA 2t KA R o dan A INTYS A LN an i AN AAS LA I‘A AN ALANAIL A
HY VLALLM T H"’Vl' AV AL 4 v,ww‘ ', H”HHH"‘ VATV AN '] AN NIRRT 'H'],
E S S S S S S S W S S S W n
0 100 200 300 400

ipp number



A/D sample

A/D sample

A/D sample

A/D sample
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